g¥)=f(x—a)+2a=(x—a)’—(x—a)+2a=x>—3ax*+3a’x—a’—x+a+2a
=x°—3ax?+(3a?—1)x—a’+3a
1) g(x) — f(x) =2>—3ax*+Ba’—1)x—a’+3a—(x*—x)
=—3ax*4+3a*x—a*+3a=a( —3x°4+ 3ax—a’+ 3)

x g(x) —f(x) =0 2
—3x%4+3ax—a’+3=0 D
D=(3a)?—4 (=3) (—a’+3)=—3(a?—12)>0
a’?—12<0 —2/3 <a<2J3
a>0 0<a< 2¢/ 3

g(x) — /() =01—3<x—%>2_%2+3}

Q

a>0 g(x) — f(x) x=—2
2
a<—%+3>:i< 12—a 2
2) h(a)z%(lZ—a2)=Ba—aT3
5 5 a 0
W(a)=3-ra’=—"t(a+2a—2) | |+ -
h(a) h(a) /! N\
ha) a= 2 %(12-2%: 4
3 a=+3 y=f(x) y=g(x) 2 x
—3x%2+3/3x—(/3)24+3=0 —3x(x—+/3)=0
x=0 V3 P(0 0 QW 3 2 3)
2 y=f(x) y=9g(x S

s={ " 1ot0 — rmdx =| " (~3/F xlx - VB ar

0

= —Bﬁgfx(x—ﬁ)dx =-3J3 <—l

flx)=x°—x f(x) =3x%-1
g(x) =x°—3J3 2%+ 8«
g’ (%) =3x*—6/3 x+8

y=f(x) y=g(x x

_ tana—tanp = —1-8 9
"~ l+4tanatanpf  14+(=1) 8 7

tanf =tan(a—p)



